

1. Financial data related with the Net Working Capital of XYZ Firm is as follows:
	Current Assets
Cash
Receivables
Inventory
	

	
	???

	
	???

	
	300,000

	Current Liabilities (Short Term Debt)
	???

	Net Working Capital =(Current Assets - Current Liabilities)
	500,000

	Quick Ratio =(“Cash + Receivables”/ Current Liabilities)
	?


What is the value of Quick Ratio If Current Ratio (= Current Assets / Current Liabilities) is 6?

2. Net Working Capital of XYZ Inc. Is 4000 and Fixed Assets is 28000. The Company has 40000 shares outstanding. If share price is TL 60 Krş (0,6 TL) what about the Long-Term Debt Ratio [=Long Term Debt/( Long Term Debt + Equity)]  of the firm?
3. The Fixed Assets of XYZ Corp. 

	XYZ  Corp.
	2003
	2004

	Net Fixed Assets (Machinery)
	5320
	3640


If depreciation expense is TL 980 for the year 2004 what is the sell price of old machines for the same year (cash inflow)?
4. ABC Corporation financial data related with dividend payments are as follows:.

	Plowback Ratio (= Retained Earnings/Net Profit) is 
	70%

	Corporate Tax (Tax Rate= 30%)
	4500

	Dividend Payments
	???

	Payout Ratio (=Dividend Payments/Net Profit) or 1-Plowback Ratio)
	???


What is the value of Firm’s Dividend Payments? 

5. Income Statement Financial Data of XXX Corporation for the year of 1994 are as follows:

Net Sales: 104,000;   Depreciations:13,000;

Interest Payments: 2,600; Sales & Administrative Expenses: 5,200; 
Cost of Goods Sold: ???? and Tax Payment (35% of Taxable Income)
Net Income: ??? and cash provided from operating activities (=Net Income + Depreciations): 23,140
Owing to the above data answer the followings?
a. Taxable income is :
b. Gross Profit is  :
c. COGS is :
d. EBIT  is :
e. Tax Payment is :
6. The table below shows ABC Corporation’s balances for the years of 2008 and 2009.  

	
	2008
	2009

	Accounts Receivables
	152.000
	?

	Inventory
	?
	152.000




TL 48000 cash collected from customers is used to purchase additional inventory.
Depending the above data  what is the;
a. Accounts Receivables balance for 2009 : ………………………….
b. Accounts Payables balance for 2008     :  ……………………………

7. ABC Corporation financial data as follows:.

	Current Assets 
	
	???

	Cash
	400
	

	Receivables
	4000
	

	Inventory
	???
	

	Gross Profit 
	
	6,000

	1 Year = 360 days


If Inventory Turnover (= COGS/Inventory) is 3 and Average Collection Period [= 360/(Net Sales/Receivables)] is 40 days, what is the value of Current Assets?

8. Fill the blanks with appropriate word or phrase
a. Security that obligates the issuer to make specified payments to the bondholder is labeled as ……………………………

b. ……………………………….. shows the firm’s cash receipts and cash payments over a period of time.

c. A …………………………………… is a  business organized as a separate legal entity  owned by stockholders.

d. …………………………….   ownership shares in a publicly held corporation.

e. ………………………………………; expected rate of return on a portfolio of all the firm’s securities, adjusted for tax savings due to interest payments.

f. ……………………………….. is the financial statement that shows the firm’s assets and liabilities at a particular time.

g. Assets used to produce goods and services are classified as …………………………….

h. ………………………….. is market where securities are issued and traded.

i. The ability to sell or exchange an asset for cash on short notice is known as ……………………………….

j. ………………………………. shows the revenues, expenses and net income of a firm over a period of time.

(Balance Sheet;   Financial Market;   Bond;   Cash Flow Statement;   Corporation; 
WACC (Weighted Average Cost of Capital);   Stock;   Income Statement:   Real Assets;   Liquidity)
Financial Data of ABC Corporation is as follows:

	ABC Corporation
	2009

	Current assets
	???

	Fixed  assets
	24.200

	Total Debt Ratio
	62,5%

	Short term debt
	2.400

	Long term debt
	?

	Equity
	?

	EBIT
	13.200

	Interest Payment
	?

	Taxable Income
	10.000

	Net Income
	8.000


Answer the 9th and 10th questions by using the related data of ABC Corporation

9. If Current Ratio of the Firm is 3,25;  
a. After tax Cost of Debt is: 
b. Cost of Equity is:
10. What is the WACC (Weighted Average Cost of Capital) of ABC Firm? (if Current Ratio is 3,25) 
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Warning: 


Test consists of 10 questions. Time is 70 minutes.


Each question is 10 points. Total point is 100.


Show the solving in blank areas!
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